
. 1 .

4731835



Description
MSS 674mm cupboard
MSS full height peg board 674x998mm
End Cap
MSS wire pipe 60X30mm
MSS full height peg board 845x998mm
End Cap'
HEX socket head cap screw (M6X16)
with washer
MSS wire pipe 30X30mm
Phillipps Head Bolt(M6x12)
MSS wooden top blade 2193x500x40mm
HEX socket head cap screw (M8X20 )
Hexagon bolt with flange screw

 (M4.8X25)
26''&34''closet side board
Phillipps Head Bolt(M6x12)
26"Skirting board
MSS 674mm cabinet without top blade
MSS 674mm toolbox 7 drawers
MSS 674mm closet without top blade
Hex Flange Bolt(M6x16)
Hex Flange Nut
Front Skirting board
MSS 845mm corner closet without top blade
MSS 674mm cabinet with door without top blade
Adjustable Feet
MSS 26"wood worktop 674x500x40mm
W

ooden top of 47505 MSS 34" Corner closet

QTY
4 pcs
4 pcs
7 pcs
8 pcs
4 pcs
2 pcs
16 sets

2 pcs
64 pcs
2 pcs
36 pcs
38 pcs
4 pcs
24 pcs
6 pcs
2 pcs
2 pcs
2 pcs
4 pcs
4 pcs
2 pcs
2 pcs
2 pcs
34pcs
2 pcs
2 pcs

Ref#
1234567891011121314151617181920212223242526

Part#
47276
47376
314010
47283
47380
314009
320111

47284
320023
47306
320113
320122
47389
320023
47289
47280
47451
47288
321006
323085
47541
47505
47308
313004
47378
47544

. 2 .

4731835

1
2

3

5
6

789

10
11

12

13

14

16

15
20

19

17
18

21
22

23
24 25

26

4



. 3 .

1. R
EA

D
Y&

 INSTALL PIPES
A)  Arrange the cabinets.

M
8X

20hex socket
head cap screws

B)  Simply position the pipes over the holes
on the cabinets and attach with the bolts
provided. Tighten HEX socket head cap
screws( M

8X20) securely.

4731835

MSS 674mm cabinet
without top blade

MSS 674mm cabinet
without top blade

MSS 674mm closet
without top blade

MSS 674mm closet
without top blade

MSS 674mm cabinet with
door without top blade

MSS 845mm corner
closet without top blade

30x30mm
pipe

M
8X

20hex socket
head cap screws

60x30m
m

 pipe

60x30m
m

 pipe

60x30m
m

 pipe

60x30m
m

 pipe
60x30m

m
 pipe

60x30m
m

 pipe

60x30m
m

 pipe

60x30m
m

 pipe

30x30m
m

 pipe



. 4 .

2.  IN
STA

LL H
A

N
G

ER
 B

O
A

R
D

Simply position the hanger board over the holes and attach with the bolts provided.
Tighten phillipps head bolt ( M

6X12,stainless) securely.

4731835

Phillipps head bolt
(M

6X12,stainless)



. 5 .

3. A
D

JU
ST TH

E
 LEVEL A

N
D

 C
O

N
N

EC
T EA

C
H

 C
A

B
IN

ET
B)To connect each cabinet by hex flange bolt (M6x16) and hex
flange nut. Tighten the screws securely.

4731835

A
)R

em
ove the draw

ers, shelves and doors.
A

djust the adjustable feet to m
ake the w

hole
set-up in a sam

e level.

M
6x16 hex flange bolt

hex flange nut



. 6 .

4.  IN
STA

LL C
U

PB
O

A
R

D

H
ang the cupboards onto the screw

s and
attach w

ith the H
EX

 socket head cap
screw

s(M
6X16) and w

ashers provided. D
o not

tighten them
 yet. M

ake som
e space to hang up

the w
all chest. O

pen the chest and put 2 m
ore

screw
s (M

6X16) and w
ashers to connect w

ith
the post. Tighten the screw

s securely.

HEX socket head cap screw
(M6X16) with washer

4731835

HEX socket head
cap screw (M6X16)
with washer



. 7 .

4731835

5.  IN
STA

LL TH
E

 W
O

R
K

 PLA
TE

S

A)P
ut the w

ork plates on the cabinet.

W
ooden top of 47505

MSS 34" Corner closet

B
)P

osition the w
ork plate

s on the top of cabinets. S
crew

 the
hexagon bolt w

ith flange screw
s

 (M
4.8X25) through the top of

cabinet by an electric screw
 driver into the bottom

 of the w
orktop.

Tighten securely.
R

einstall the draw
ers, shelves and doors.

Hexagon bolt with
flange screw

(M4.8X25)

MSS wooden top blade
2193x500x40mm

MSS wooden top blade
2193x500x40mm

MSS 26"wood worktop
674x500x40mm



6.  IN
TA

LL SK
IR

TIN
G

 B
O

A
R

D
S

P
osition the skirting boards on the legs of cabinets.

Insert the phillipps head bolt( M
6X12,stainless )

through the legs. Tighten securely. R
epeat the steps

for other skirting boards.

P
hillipps head bolt(

M
6X

12,stainless)

. 8 .

47318357. PU
T IN

 TW
O

 M
SS

 674M
M

 TO
O

LB
O

X
 7

D
R

A
W

E
R

S
.


